[ ] SBS-SL/SLL/HL/HLL

JZ7L=I 2 AT LA

(] SBS-SL/SLL/HL/HLL

4 N e N
"Ij:—m Mro 1
4-Mx! w L1
| h ) ‘ B! ‘ ‘ ‘ ’ ‘
1 n .
° [ (o] o " L T Tp
Myo — ) Sy 'tsfy T } 7 L
: nLsT | =
! H1 ! i o | =
i T ) \ \
we | wi 4 | ‘
G| F
Lo |
\ J \ J
& mm ~iEImm
RO A% T0vy % L—ILhs SEREREE [ EAS Xk S
D?Z)\%% = _ N NN i) = = , N
B | p | wp | 8B | Rma | BONBSYIR | 2 B | WS | EF BRLAR | o LIOEXE| ¢ | o | Mro | Mpo | Myo | N7 | L
H W L BXxJ M X/ VNN T1 N W1 H1 F dXDXh Lomax (kg) |(kg/m)
SBS15SL | 24 | 3 | 95| 34 |[60.8 |26X26| M4x5 |388 | 21 | 6 035 4 | 5 15 | 15 | 60 [45X7.5X53| 20 3000 | 833 | 134 | 0.07 | 0.05 | 0.05 | 02 | 145
SBS20SL | 28 |35 | 12 | 44 |77.2|32X32| M5X7 |50.8 | 245 | 75 | M6X0.75| 5 | 9.8 20 | 175 | 60 | 6X9.5X85 | 20 4000 | 142 | 25 | 022 | 018 | 018 | 0.33 | 2.20
SBS20SLL | 28 |35 | 12 | 44 |93.2 |32X50| M5X7 |66.8 | 245 | 7.5 | M6X0.75| 5 | 9.8 20 | 175 | 60 | 6X9.5X85 | 20 4000 | 169 | 365 | 0.28 | 0.31 | 0.31 | 045 | 2.20
SBS25SL | 33 | 6.5 | 125| 48 [86.9 |35X35| M6X8 |59.5 |265| 8 | M6X0.75| 52 | 9.8 23 | 218 | 60 | 7XMX9 | 20 4000 | 209 | 392 | 035|031 | 03 | 056 | 3.10
SBS25SLL | 33 |65 | 125| 48 [106.4|35X50| M6X8 | 79 |265| 8 |M6X0.75| 52 | 9.8 23 | 218 | 60 | 7XMX9 | 20 4000 | 246 | 48 | 043 | 049 | 048 | 0.73 | 3.10
SBS25HL | 36 |65 | 125| 48 |86.9 |35X35| M6X8 |59.5 | 295 | 11 | M6X0.75| 82 | 9.8 23 | 218 | 60 | 7XMX9 | 20 4000 | 209 | 392 | 035 | 031 | 03 | 056 | 3.10
SBS25HLL | 36 |65 | 125| 48 [106.4|35X50| M8X8 | 79 |295 | 11 | M6X0.75| 82 | 9.8 23 | 218 | 60 | 7XMX9 | 20 4000 | 246 | 48 | 043 | 049 | 048 | 073 | 3.10
SBS30SL | 42 | 7 | 16 | 60 | 99 |40X40| M8X10 | 704 | 35 | 12 | M6X0.75 | 85 | 10.7 28 | 25 | 80 | 9X14X12 | 20 4000 | 292 | 538 | 059 | 049 | 048 | 0.98 | 4.45
SBS30SLL| 42 | 7 | 16 | 60 [1215|40X60| M8X10 |92.9 | 35 | 12 | M6X0.75 | 85 | 10.7 28 | 25 | 80 | 9X14X12 | 20 4000 | 353 | 67.9 | 0.74 | 0.79 | 0.78 | 1.28 | 4.45
SBS35SL | 48 |75 | 18 | 70 [112.6|50X50 | M8X12 | 80.4 | 405 | 15 | M6X0.75 | 9.5 | 10.7 34 | 29 | 80 | 9X14X12 | 20 4000 | 388 | 686 | 094 | 0.74 | 0.72 | 1.63 | 6.40
SBS35SLL | 48 | 75 | 18 | 70 [138.1|50X72| M8X12 [105.9| 405 | 15 | M6X0.75 | 9.5 | 10.7 34 | 29 | 80 | 9X14X12 | 20 4000 46 | 904 | 124 | 13 | 128 | 212 | 6.40
SBS45SL | 60 | 10 | 20.5| 86 [140.4|60X60 |[M10X10| 98 |493 | 15 | PT1/8 | 205 | 11 45 | 38 | 105 | 14X20X17 | 225 | 4000 | 616 | 1106 | 1.98 | 1.56 | 1.54 | 2.96 | 11.25
SBS45SLL | 60 | 10 | 20.5| 86 [172.4|60X80 |M10X10| 130 | 49.3 | 15 | PT1/8 | 205 | 11 45 | 38 | 105 | 14X20X17 | 225 | 4000 | 755 | 1385 | 245 | 233 | 23 | 375 | 11.25
C EERMTE

Co:FRERME






